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( : Unit E Exam Review
1. Draw the quadrilateral hierarchy.
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2. - Consider the polygon HIJK below. ' P=ey
a. Name a pair of consecutive sides.  2a, HT %3 L3
b. True or False. Hand K are consecutive b. TeoE -
vertices.
) !
C. ¢.  Name the diagonals from vertex /. e, KL e RJ”
| 0
3. The measures of the angles of a triangle areinthe 3. lZ_O
extended ratio 2:3:10. Find the measure of the
largest angle.
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4. In HEXAGO below, flnd cand m.G. ' 4, C=24
(n-2)-1 /G= MY’
O H, ,
(G- 2) 8 A a0+ 130 +He +{5 + v -20+ e
* =720 _
: 120 —> o
o W
5. Refer to the quadritateral MATH. Find m.AMR. 5. Lﬁ 8
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Find the sum of the measures of the angles B. - .
in a convex 14-gon. (j

(n-—?_) (RO
(14-2)- 180

I PENTA below, find z and m .E, ; 2=21 LE=|23
A T
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a. Draw the symmetry line(s) of the regular
pentagon WORLD below. Locate the center
of symmetry and label it as point Y.

b. Regular pentagon WORLD has 5 -fold 8b

rotational symmetry.

Tl e
True or False. Each symmetry line of a regular 9. }E\Z@\{ TALSE

hexagon is the perpendicular bisector of a 51de of
the hexagon.

In the figure, BASE Is a thombus with m.1 = 62. | 2% °

a. Find m.3.

b. Find m.2.

a. In the space below draw a quadrilateral that has only two right angles, but

no congruent sides.

ul I |
b. What is the name of the quadrilateral - 11b. TIZM’ EZOD
you drew? Be as specific as possible.
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In the figure below, a and b are symmetry Elngs for rectangie XYZW.

M3 v
a.  If XZ=27, which other segment \/\/Y
is also 277
b. - 1 XM =3, find WZ. G b o, (0
C. XYZW has ___-fold rotational c. 2
symmetry.
W ‘FP z

Given Kite, KITE, with ends Kand T. f m:ETX=19, m.EKT= 40 and EK=14,
find: .

K

a K g 13a. 4
o

b.  m.EXT. X b, 90

;-7 &
C. meXET. | 1RO -90 ~ (9 C. I _
d. meEKI. ; . q d. 80 .

o

True or False. Each symmetry line of a square is 14, I:Q( LSE — :§4
the perpendicular bisector of a side of the square.
Name the quadrilateral below. Be as spscific 15. KiTe
as possible.
True or False. Every rhombus is a trapezoid. 186. (UZUE’
True or Faise. Evety quadrllateral is a 7. Fpase

paralielogram.

Refer to the parallelogram QUAD below. f QU= 12, UA=8, and XU =8, flnd as
many other lengths as you can. U 3 A
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